Breakdown for FS-1636H & FS-1652H Foot Shear




Index No.

Parts List for the FS-1636H & FS-1652H Foot Shear

Part No. Description Size Qty
FS1636N-1.............. TaADIE .o 1
FS1652N-1.............. TaADIE .o 1
FS1636N-2.............. CULEEr Bar.....cooiiiiiiii 1
FS1652N-2.............. CULEEr Bar.....ooiiiiiiii 1
FS1636N-3.............. HOIA DOWN.... e 1
FS1652N-3.............. HOIA DOWN.... e 1
FS1636N-4 .............. R.H. Side Panel ... 1
FS1636N-5.............. L.H. Side Panel ... 1
FS1636N-6.............. Front Arm EXIENSION .....coooiiiiieeeee 2
FS1636N-7 .............. SCIEW ..o M12x45.........ccceeeenn. 4
FS1636N-8.............. S o] 1 o TR 2
FS1636N-9.............. ST . 2
FS1636N-10............ NUL ML2. s 2
FS1636N-11 ............ SCIEW ..o M12x80.........cceevieennn. 2
FS1636N-12 ............ MV ASIIEE ..ttt 2
FS1636N-13............ FINGEr GUAIT .. .ot eeeeeees 1
FS1652N-13............. FINGEr GUAIT .. .ottt e e e eeeees 1
FS1636N-14 ............ SCIEW ..ot MBX12......cooviiiieii, 4
FS1636N-15 ............ Table Scale (L.H.) ..o 1
FS1636N-16 ............ Table Scale (R.H.) ..o 1
FS1636N-17 ............ SCIEW ...ciiiiiiiiiii MBX20 ..., 4
FS1636N-18 ............ SEESCIEW...cceiiiiiiiiiiii M10X45.........cceeeieenn. 2
FS1636N-19 ............ SCIEW ..o MLOX50........ccovviiennn. 2
FS1636N-21 ............ BOlt...o M16X115......ovvvvevennnns 4
FS1636N-22 ............ WaASHET .. ettt MLB....oeveeiiniiiiiiiiiiiinns 4
FS1636N-23............ NUL MLB.....eeniieniiniiiiiiiiinns 4
FS1636N-24 ............ UPPEI KNITE . 1
FS1652N-24 ............ UPPEI KNITE e 1
FS1636N-25............ LOWET KNITE ..o 1
FS1652N-25 ............ LOWET KNITE ..o 1
FS1636N-26 ............ SCIEW ..o M10X40........cceeeeeeenn. 7
FS1636N-27 ............ SCIEW ..o M10X45.........coeeviienn. 6
FS1636N-28 ............ MV ASIIEE ..ttt 7
FS1636N-29 ............ MV ASIIEE ..ttt 6
FS1636N-30............ SPIING CAP ettt et 4
FS1636N-31 ............ GID 2
FS1636N-32 ............ SCIEW ..o MLOX55.......ccovveiiinn. 6
FS1636N-33............ NUL MO, 6
FS1636N-34 ............ RO .. 1
FS1652N-34 ............ RO .. 1
FS1636N-35............ WaASHET .. it MLB....oweeeieiiiiiiiiiiiiinns 2
FS1636N-36 ............ NUL MLB.....evveiiiiiiiiiiiiiiinns 2
FS1636N-37 ............ SCIEW ..o M16X80.........cceevveennnn. 1
FS1636N-38 ............ NUL MLB.....evvnniiiiiiiiiiiiiinns 1
FS1636N-39............ WaASHET .. .ueiiiiiiiiiiiiiiiii MLB....owveeiiniiiiiiiiiiiinns 1
FS1636N-40 ............ Hex Socket Cap SCreW.........cevvveeiiieeiiiiiiiieeeeeeeas M10X30.....ccvvuieeiennnnnn. 2
FS1636N-41 ............ SPIING. i 2
FS1636N-42 ............ SWIVEI TOP. .o 2
FS1636N-43............ SWIVElI BOMOM.....coiiiiiiiiiiiii 2
FS1636N-44 ............ STU . 2
FS1636N-46 ............ NUL MLB.....evveiiiiiiiiiiiiiiinns 2
FS1636N-47 ............ SCAIE (IMELIIC) ..o 2
FS1636N-48 ............ Scale (INCNES).....ccooviiiiiii 2
FS1636N-49 ............ SCIEW ..o MAX8 ..., 4
FS1636N-50 ............ PN DL2XT0 ..cccvvvviiiiiieannn 2
FS1636N-51 ............ PN, DLI2XA5 ..o 2



53 FS1636N-53............ Brake Pin ..o 2

58...ciiiiin. FS1636N-58 ............ RO .. 2
59 FS1636N-59 ............ SHOP i 1
................. FSLI652N-59 ..ottt .STOP oo L
60....cccc..... FS1636N-60 ............ EXIENSION Bar. ... 2
61l............. FS1636N-61 ............ AJUSEING BIOCK......uuiiiiiiiiiiiiiiiiii i 2
62............. FS1636N-62 ............ AJUSEING DA ..ttt 2
63 FS1636N-63............. AQJUSEING SCIEW......eveiii ettt e e e e et e e aeeeenes 2
64............. FS1636N-64 ............ NUL 1Y O TR 2
65 FS1636N-65............ KNOD 4
67 e FS1636N-67 ............ AdJUSEING BIraCKet...... oo 2
68....ccceennn. FS1636N-68 ............ SCIEW ..o M10X25........ccoeeiien. 4
69......cce.. FS1636N-69 ............ BOlt... M1OX25 .....ovvevineniiinnnns 2
70 ... FS1636N-70 ............ NUL MO, 2
Tl FS1636N-71 ............ SHOP it 1
................. FSLIB52N-71 .ot . STOP i L
T2 FS1636N-72 ............ T 7 INUL e 3
T4............. FS1636N-74 ............ WiING NUE ..ceeeeiieiiiiiiiiiiiii e MO, 3
5. FS1636N-75 ............ BEVEI GAUQJE ...uviviiiiiiiiiiiiiiiiiiibb bbbt 1
76..ccccenn... FS1636N-76 ............ MV ASIIEE ..ttt 4
TTiiiiiin FS1636N-77 ............ WaASHET .. .uiiiiiiiiiiiiiiii i MLO...eeeiiiiiiiiiiiiiiiiiis 5
8. FS1636N-78 ............ MV ASIIEE .ttt 2
79 FS1636N-79 ............ SEESCIEW....coiiiiiiiiiiii MLOX50........ccevevieennn. 2
80...ceeenn. FS1636N-80 ............ PI . . 2
8l........... FS1636N-81 ............ SCIEW ..o M12x35......cccovieiiinn, 4
82 FS1636N-82 ............ NUL MLB.....ovvnieiiiiiiiiiiiiinns 4
83 FS1636N-83............ ConNection Bar.........ccccccevii @16x1081mm............. 1
................. FS1652N-83 ............Connection Bar............ccccccvii . 016x1463mMmm.......... 1
902........... FS1636N-902 .......... Pedal ASSEMDIY ... 1
................. FS1652N-902 ..........Pedal ASSemDbBIy........coouuiiii e L
................. FS1636N-ID.............ID Label (N0t SNOWN).........coiiiiiiiiiiiiii e L
................. FS1652N-ID.............ID Label (N0t SNOWN)........ciiiiiiiiiiiiiii e eeeeiiii e L
................. FS1636N-W ............Warning Label (N0t ShOWN) ...........uuiiiiiiiiiiiiiee e L
................. FS1636N-J .............JET Label (N0t ShOWN) .........ccooiiiiiiiii e L

Ordering Replacement Parts

To order parts or reach our service department, call 1-800-274-6848 between 7:00 a.m. and 6:00 p.m.
(CST), Monday through Friday. Having the Model Number and Serial Number of your machine available
when you call will allow us to serve you quickly and accurately.

JET

WALTER MEIER (Manufacturing) Inc.

427 New Sanford Road
LaVergne, Tennessee 37086
Phone: 800-274-6848
www.waltermeier.com





